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ME160-3, Element A: Radial gratings (Siemens-stédsW, W-N, N-ZandW-Z; PS operatonw* setgray

ME161-3, Element E: Line raster under 45° (or 135°); PS operatbsetgray
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L*/Yinput 18.0/2.5 37.3/9.7 56.7/24.6 76.1/49.9 95.4/8RGmin.) Wi (max.)
(absolute) 120
(+8)
60
(+4)
30
g (+2)
A 15
wn k—|*
o ENI__ICI)ELAB, r (+1)
relative
,f) Wiput 0,000 0250 0500 0,750 1,000 Ng(min.) Wi (max.) 15116
.-O MEZ160-5, Element B: 5 visual equidistaht-grey steps- NO + W1, PS operatom* setgray
o L*/Yinput ~ 18.0/2.5 23.2/3.8 28.3/5.6
Tl P
~N (absolute)
\]

No. and
Hex code

*—|*
| _ICIELAB, r

(relative) \,
Winput 0,000 0,067 0,133 0,200 0,267 0,333 0,400 0,467 0,533

ME160-7, Element C: 16 visual equidistalt-grey steps; PS operatav* setgray
Test chart ME16 according to 1ISO 9241-306; test chart 3 accord

Page 1/1; recognition of 16 grey steps; standard contrast range 88.6 : 2.5
[¢] M Y (6]

0,600 0,667 0,733 0,800

ing to ISO/IEC ifpinbn* setgray
output:w* setgray
V

ME161-5, Element F: Line raster under 90° (or 0°); PS operatdisetgray
33.5/7.8 38.6/10.5 43.8/13.7 49.0/17.6 54.1/22.1 59.3/27.3 64.4/33.3 69.6/40.2 74.8/47.9 79.9/56.5 85.176632 9804288.6

0,867 0,933
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